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UNIVERSITY OF NORTH BENGAL 

B.A. Programme 2nd Semester Examination, 2023 

DSC1/2-P2-PHILOSOPHY 
Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

 SECTION-I /  / खÁड-क  

1. Answer any four questions from the following:  
िनÌन म¤ से िकÆहé चार ÿĳŌ के उ°र दीिजएः 

कुनै चारवटा ÿĳको उ°र िदनहुोस्: 

3×4 = 12 

(a) What is existential fallacy? Explain with example. 3 

 स°ाÂमक दोष िकसे कहते है ? उदाहरणसिहत Óया´या कìिजए ।  

   

 ‘अिÖतÂववादी  दोष’ के हो ? उदाहरणसिहत Óया´या गनुªहोस् ।  

(b) Reduce the following sentences into logical form and convert the same. 
(i) Only students are intelligent. 
(ii) All that glitters is not gold. 

1 2
1 +1 2

1  

 िनÌनिलिखत वा³यŌ को तािकª क łप म¤ łपांतåरत कìिजए तथा इनका पåरवतªन कìिजए, 
(i) केवल छाýŌ ही बुिĦमान ह,ै 
(ii) चमकदार चीज ही सोना नहé है । 

 

 

(i)  

(ii)  

 

 िनÌन वा³यलाई तािकª क łपमा घटाउनहुोस् अिन आवतªन गनुªहोस् । 
(i) िवīाथêहł माý बिुĦमान छन ्। 
(ii) सबै चमकने सनु होइन ।

 

(c) Why only three intersecting circles are required in Venn diagram to determine 
the validity or invalidity of an argument? 

3 

 वेन रखेािचý म¤ तकª  कì वैधता या अवैधता िनधाªरण करने के िलए केवल तीन परÖपर-छेदी व°ृŌ कì 
आवÔयकता होती ह,ै ³यŌ ? 

 

  

 भेन रेखािचýमा तकª को वैधता वा अवैधता िनधाªरण गनªमा िकन केवल तीनवटा ÿित¸छेदन 
सकª लहł आवÔयक छन ्? 
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(d) What do you mean by Copula? What is the function of Copula? 3 

 ‘संयोजक’ स ेआप ³या समझते है ? ‘सयंोजक’ का कायª ³या ह ै?  

   

 सयंोजक भÆनाले के बझु ्नहुòÆछ ? संयोजकको कायª के हो ?  

(e) Give the definition of quality and quantity of a categorical proposition.  

 एक िनłपािधक तकª वा³य का गुण एवं पåरमाण कì पåरभाषा दीिजए ।  

   

 मानक łपहłको गणुÖतर अिन माýाको पåरभाषा िदनहुोस् ।  

(f) What do you mean by distribution of terms? Do you think that all the terms of 
all categorical propositions are distributed? 

 

 पदŌ कì ÓयाÈयता से आप ³या समझते है ? ³या आपको ऐसा लगता है िक िनłपािधक तकª वा³यŌ 
के सभी पद ÓयाĮ होते है ? 

 

 

 

 

 ‘पद-िवतरण ’ भÆनाले के बझु ्नहुòÆछ ? के मानक łपहłको सब ैपदहł िवतåरत छन् भÆने लाµछ ?  

  

 SECTION-II /  / खÁड-ख  

2. Answer any four questions from the following:  
िनÌन म¤ से िकÆहé चार ÿĳŌ के उ°र दीिजएः 

कुनै चारवटा ÿĳको उ°र िदनहुोस्: 

6×4 = 24 

(a) Use truth-table to determine the following statements whether tautology, self 
contradictory or contingent. 

3+3 

 सÂयता-सारणी के माÅयम से यह िनधाªåरत कìिजए िक िनÌनिलिखत कथन पनुłिĉ, आÂम-
Óयाघाती या आपाितक ह ै– 

 

  

 सÂय सारणी सहायताĬारा िदइएका वचनाकारहłबाट िĬŁ° Öविवरोधी अथवा सÌभाÓय िनधाªरण 
गनुªहोस् । 
(i) )()( rqqp   

(ii) )(~)~( qpqp 

 

(b) Determine the validity or invalidity of the following arguments by syllogistic 
rules: 
(i) All happy person are simple. All simple person are innocent. So, happy 

person are innocent. 
(ii)  EAE-I 

 

 Æयायसगंत िनयमŌ के माÅयम से िनÌनिलिखत युिĉयŌ कì वैधता या अवैधता का िनधाªरण कìिजएः 
(i) सभी सखुी Óयिĉ सरल है । सभी सरल Óयिĉ मासूम ह ै। इसिलए, सखुी Óयिĉ मासूम ह ै। 
(ii) EAE-I 
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(i)  

(ii) EAE-I 

 

 ÆयायबĦ िनयमको सहायताĬारा िदइएको तकª हłको वैधता वा अवैधता िनधाªरण गनुªहोस् 

(i) सबै सखुी माÆछे सरल छन् । सब ैसाधारण माÆछे िनदōष छन् । Âयसले सखुी मािनस िनदōष 
छन् । 

(ii) EAE-I. 

 

(c) Distinguish between good analogy and bad analogy.  

 अ¸छा साŀÔय-यिुĉ एवं बरुा साŀÔय-यिुĉ म¤ भेद कìिजए ।  

   

 राăो साŀÔयमूलक अिन नराăो साŀÔयमूलक माझको िभÆनता दखेाउनहुोस् ।  

(d) Explain the ‘problems of induction’.  

 ‘आगमन कì समÖयाए’ँ कì Óया´या कìिजए ।  

   

 इÆड³शनको (Induction) समÖयाहł Óया´या गनुªहोस् ।  

(e) Explain in brief, the fallacy of equivocation and the fallacy of illicit minor with 
example. 

 

 अनेकाथªक दोष एवं अवैध अमु´यपद दोष को सं±ेप म¤ उदाहरणसिहत Óया´या कìिजए ।  

   

 उदाहरणसिहत इ³वीवोकेसनको दोष अिन अवैध साÅयदोषको Óया´या गनुªहोस् ।  

(f) Explain contrary and contradictory opposition of proposition with example.  

 ÿित²िĮयŌ का िवरोध म¤ से िवपरीत एवं िवłĦ को उदाहरणसिहत Óया´या कìिजए ।  

   

 ‘िवपरीत अिन िवłĦ’ ÿित²िĮहłको उदाहरणसिहत Óया´या गनुªहोस् ।  

   

 SECTION-III /  / खÁड-ग  

3. Answer any two questions from the following:  

िनÌन म¤ से िकÆहé दो ÿĳŌ के उ°र दीिजएः 

कुनै दइुवटा ÿĳको उ°र िदनहुोस्: 

12×2 = 24 

(a) Distinguish between inductive arguments and deductive arguments.  12 

 िनगमनाÂमक यिुĉ एवं आगमनाÂमक यिुĉ म¤ भेद कìिजए ।  

   

 उदाहरणसिहत ‘अवरोह’ अिन ‘आरोह’ माझको िभÆनता दखेाउनुहोस् ।  
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(b) Use truth-table to determine the validity or invalidity of the following arguments. 3+3+3+3 

 सÂयता-सारणी का ÿयोग करते हòए िनÌनिलिखत यिुĉयŌ कì वधैता या अवैधता िनधाªरण कìिजए–  

   

 िदइएको तकª हłको वैधता वा अवैधता जाँ̧ न सÂय-सारणीको ÿयोग गनुªहोस् –  

 (i)  )(/ qppqp   

(ii)  rprpqp  /,  

(iii)  CBA  )(  

 BABAC  /)(  

(iv)  )( ONM   

 POMNP  /)(  

 

(c) Test the validity or invalidity of the following arguments by using Venn 
diagram.  
(i) AIO-I 
(ii) AEI-2 
(iii) Kamal deserve the prize as he is brave. 
(iv) The wise men are good. Therefore, some ignorant people are wise, 

because some ignorant people are good. 

3+3+3+3 

 वेन आरेख के माÅयम से िनÌनिलिखत युिĉयŌ कì वैधता या अवैधता कì जाचँ कìिजए– 
(i) AIO-I 
(ii) AEI-2 
(iii) कमल परुÖकार का अिधकारी है ³यŌिक वह साहसी है । 
(iv) बिुĦमान आदमी अ¸छे ह ै; इसिलए कुछ अ²ानी लोग बुिĦमान ह,ै ³यŌिक कुछ अ²ानी लोग 

अ¸छे है । 

 

 

(i) AIO-I 
(ii) AEI-2 

(iii)  

(iv) 
 

 

 भने-िचýको सहायताĬारा िनÌनिलिखत तकª हłको वैधता र अवैधता परी±ण गनुªहोस्– 
(i) AIO-I 
(ii) AEI-2 
(iii) कमल बहादरु भएकाले परुÖकारको हकदार छन् । 
(iv) ²ानीहł असल हòÆछन, Âयसलेे कोही अ²ानीहł बुिĦमान हòÆछन्, िकनिक कोही 

अ²ानीहł राăो हòÆछन् । 

 

(d) What is existential import of propositions? Do all standard form of Categorical 
propositions have existential import?   

 

 ÿित²िĮयŌ का स°ाÂमक ताÂपयª िकसे कहते ह ै ? ³या मानक आकार के सभी िनłपािधक 
तकª वा³यŌ का स°ाÂमक ताÂपयª होता ह ै? 

 

   

 ÿित²िĮको अिÖतÂवमूलक ताÂपयª के हो ? के सबै मानक łपहłको अिÖतÂवमूलक ताÂपयª हòÆछ ?  

 ——×——  
 


